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Solve 2x -1 = 10
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Solve 5(x-2) = 25

Solve 2x -1 = 10

Solve 2x + 4 =x + 1

Solve 5(x-2) = 25

Make p the subject

-1+2p=q

Solve 2x + 4 =x + 1

Make p the subject

JB+5:q

Make p the subject

-1+2p=q

Write 81 as a product of
prime factors

Make p the subject

JB+5:q

simplify t° xt

Write 81 as a product of
prime factors

simplify t° +t°

simplify t° xt

1
Simplify 164

simplify t° +t°

simplify (p*)°

1
Simplify 164

Write 12300 in standard
index form

simplify (p*)°

(1.2x10°%)x (3x10°)

Write 12300 in standard
index form

(6.2x10°%) = (2x10°)

(1.2x10°%)x (3x10°)

(7x10*)x (3x10°)

(6.2x10°%) = (2x10°)

(2x10%) +(3x10°)

(7x10*)x (3x10°)

Simplify \/E

(2x10%) +(3x10°)

Simplify \/7_5

Simplify \/E

&mmw2J§x&ﬂ§

Simplify \/7_5

Simplify \/g + \/g

&mmw2J§x&ﬂ§

Simplify \/E + \/ﬁ

Simplify \/g + \/g

Simplify \/E + \/ﬁ




